Stat 21 Fall 200z
Midterm 1
Open book, 50 minut

Show all work for full credit. Keep 3 decimal places in calculations and answers.
Frame your answers

Problem 1 (35 minutes, 35 points)
The following data are obtained for about 1000 men:

average height: 69 inches, SD: 2.5 inches
average forearm length: 18 inches, SD: 1 inch, r: 0.8

]

A. Of the men who were 6 feet tall, about what percentage had forearms shorter
than 18 inches?

B. Of men who had 19 inches forarms, about what percentage had height taller
than 69.5 inches?

C. A man's height is the 96th percentile of height distribution. Predict the
percentile rank of his forearm.
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l Problem 2 (15 mmutes, 15 pamts) c
\ _ A. What is the correlation coefficient for the data below (show all work)
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B. If possible fill in the two blanks so that the correlation for the data below equals
the correlation in part A, If this is not possible, explain why.
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